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= 2,500
202 Of HI 5,000 5,000 0
= 2,500
= 2,500
04 =H 20l 5,000 5,000 0
OXNEESRE s 2,500,000& *2H 5,000
== 2,500
iy 2,500
HEAMUUES2S 24,180 24,780 A 600
201 Yt 20,500 20,700 A200
01 AP 2eltl 20,500 20,700 A 200
OFZZAN=E 500,000& *273| 13,500
ONESZAL 10 15,000& * 1001 *203] 3,000
OHNXRX As Atz 500,000& *23| 1,000
Odsig & M+ s 3,000,000& 3,000
301 LEt8 A= 3,680 4,080 A400
10 AR HIEAZ 3,680 4,080 A400
OXzus &L 24 B4
7,000& *30Y *83] 1,680
Odls% & ™| 40,000& *509 2,000
sgolstsHisd 36,320 25,125 11,195
= 13,520
== 9,168
- 13,632
201 Et24| 22,040 13,025 9,015
= 13,520
== 6,668
iy 1,852
01 AF22teltl 22,040 13,025 9,015
O=s&XN&E X sg Hs g A=
600,000& *13] 600
OsE=XNEX sgoldEz X3 40,0003 x5212 20,840
= 13,520
= 6,668
iy 652
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el QoI AF L3 (B9 &2
_ _ pSNE e
A -3 -H2A(SH) - HEAMY - BES O AF K oﬁ&iﬁ Hlws2
Osa3l MR=e A8 X2 A2
600,0002 * 13| 600
301 YA 6,280 9,100 ~2,820
10 BALAHI B AS 6,280 9,100 A2,820
OSENETNE S5 U ISEHA 24
5,000 2002 1,000
OSENCK £, 550 U DSEHI} 24
50,0008 242 1,200
OSENER MFSY 248t 40,0002 <36 1,440
Osa3| M= A8t 40,0002 x36% 1,440
OSENEH S &It X2
50,0002 242 1,200
307 212+0| 8,000 3,000 5,000
= 2,500
2 5,500
02 DINAMBE 8,000 3,000 5,000
O=ZXNEX oigts 29 N
3,000,0002 *17H 3] 3,000
0428 B SENSRUE &4
,000,0002 13| 5,000
= 2,500
2 2,500
S HPS AT X2 5,810 10,850 A5,040
= 2,900
= 980
2 1,930
301 YA 300 600 A300
= 150
= 150
12 JIEtR A 300 600 A300
OFESHET D] 24 50,0002 *2% 300
=2 150
= 150
307 212H0I 5,510 10,250 A4, 740
= 2,750
= 830
2 1,930
02 DIAAATE 5,510 10,250 A4, 740
OXPSIHMCT 2EH N 2,755,008 2 5,510
=2 2,750
= 830
2 1,930
HDSAAANLE NI 12,000 18,000 A6,000
& 7,500
2 4,500
307 212H0I 12,000 18,000 A6,000
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SN SIlEHEH
HH: SIiAS X
ool S0l (9l & 2
. _ o HEG =
SN-EHH . SH(BH) - HPAY - BE2 Ofl Ak 04 il b o B2
= 7,500
2 4,500
02 DINBASE 2,000 18,000 6,000
O D=AAAT VA IS
2,500,0002 62 *0.8 12,000
& 7,500
2 4,500
4-Hal 5 4 12,600 26,900 A14,300
= 3,500
2 9,100
206 2| 1,000 1,000 0
= 500
2 500
01 T2l 1,000 1,000 0
Ot W4-HLAXE WETY Mg
50,0002 ¥205 1,000
= 500
2 500
301 LB B A 4,400 3,200 1,200
10 BAHAHIBAS 4,400 3,200 1,200
O4-HEl® T 2AUS L EA0rY BS
40,0002 *30% 1,200
O4HEl® = 520S HH2Y
40,0002 *30% 1,200
ORI215| 5552 4-HIHE (%) &
40,0002 *502 2,000
307 Q1201 1,200 22,700 A21,500
02 DINBASE 1,200 3,700 22,500
O4-Hetetsl 29 1,200,0002 17} | 1,200
402 RI2AX 201 6,000 0 6,000
= 3,000
2 3,000
01 DIZXEEE 6,000 0 6,000
O4HA s TR A 6,000,000+ 1% 6,000
= 3,000
2 3,000
DAO M 1,329,383 1,369,220 39,837
=2 3,173
= 125,650
2 1,200,560
DEI HYMN XS 1,127,780 91,676 166,104
= 125,650
2 1,002, 130
206 T2 52,860 52,860 0
= 16,900
2 35,960
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chel: DAIDl Mt (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
01 M=H| 52,860 52,860 0
O gaoils SsYHEl XI2(1,114ha)
39,000,000& 39,000
= 11,700
= 27,300
Os ot A Y| K& (433ME) 13,860,000& 13,860
= 5,200
2 8,660
301 L3 5,600 5,600 0
10 BALAHIEA S 5,600 5,600 0
OQHOIMA ZY, CCH9 DEHADY
0,000& x20H »23| 1,600
O=sEg&Es) SAEH 400,000& *103] 4,000
402 It XHE01H 1,069,320 903,216 166, 104
= 108,750
= 960,570
01 BIZPGEEXR 1,069,320 903,216 166, 104
OxRXel8 NMEZAEXA 704,000,000& 704,000
O S2F SN
100,000, 000& *2JH 2= %62 . 5% 125,000
& 50,000
2 75,000
OBZBA Mot AZD| W
11,340,000 *10CH*0.8 90,720
Og Mot X 1,200,000& *10CH*0.8 9,600
OinE=+ PN LOESE
750,000 *150ha*80% 90,000
= 33,750
= 56,250
ONBISHBMURENY
50,000,000& * 171 2 50,000
= 25,000
i 25,000
HEH=E A 170,000 116,000 54,000
206 M=H| 170,000 116,000 54,000
01 M=l 170,000 116,000 54,000
ORQ4 MM s X
8,000& *8=+*5,000ha*0.5 160,000
OHsH 2=H XN 1,000& %10,0004 10,000
HAEHT=ssHXHE 3,000 3,000 0
301 EtEA = 2,000 2,000 0
10 HALAHIZ2 &3 2,000 2,000 0
OGS WRMAL HIF 2F 40,0008 *502 2,000
307 QI12+0I A 1,000 1,000 0
02 ItAANE X 1,000 1,000 0
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SN SIS HE
HE: SIiAS X

el DAl A (el a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
OdAd=s 54 2 SHHzEs N
1,000,000& *13] 1,000
4 22| 9,430 9,430 0
101 el 24H| 7,568 7,568 0
04 JIZtMI22XNHsEE > 7,568 7,568 0
OYTZAIZ M LAIAHOIRY
35,2002 *3H x5! 528
OURA0 BE LAAAOIRY
35,200& *2H * 1004 2~ 7,040
301 et A= 1,862 1,862 0
10 HAIAHIBEAZS 1,862 1,862 0
O30 HblEZE UWsE2A
7,000 266 *13] 1,862
o 2| H K& 3,173 3,114 59
= 3,173
201 Et24d| 1,203 3,114 A1,911
= 1,203
01 At22teldl 1,203 3,114 A1,911
O3 &l 1,003
o YFHRE=E A 1,003,000& 1,003
= 1,003
Ogdet24 | 200
o LHHRP A 200,000& 200
= 200
202 (4 1,970 0 1,970
= 1,970
01 2| 1,970 0 1,970
OZ2UW o 1,970
o YHHRE=X (| 1,970,000& 1,970
= 1,970
HEeXedg X 16,000 16,000 0
402 QI2tXH=01M 16,000 16,000 0
01 It = 16,000 16,000 0
Ol 228 MEHX 29X
363,630& *44ha 16,000
SHAEH X 2 A 5,309,871 5,215,605 94,266
= 5,073,819
o 236,052
MASSEAINEEES 4,489,470 4,489,470 0
= 4,489,470
402 SIZHXFE0|M 4,489,470 4,489,470 0
= 4,489,470
01 QI2tXIE2E X 4,489,470 4,489,470 0
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SN SIS HE
HE: SIiAS X

ool SANFXEH (9l & 2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 %gi B2
OMASSEHIBAES  4,489,470,0009 4,489,470
= 4,489,470
BASSSEDZRE BFY| 33,564 5,248 28,316
= 33,564
201 Yereg| 23,947 5,248 18,699
=2 23,047
01 Attt 23,047 5,248 18,699
OBASHEISAY BFY| 7,648,00024 7,648
= 7,648
OBASHERSH MAZIRE 2 (12048
o) 16,299,0002 16,299
= 16,299
202 OiH| 9,617 0 9,617
= 9,617
01 =2Uioibl 9,617 0 9,617
O2Uo1H| 9,617
OMASSRHNEH HRFA it
9,617,0002 9,617
= 9,617
ZAZANAXFN 2 765,535 698,800 66,735
= 535,874
2 229,661
402 Q12X 0|H 765,535 698,800 66,735
= 535,874
2 229,661
01 pIZX=EE 765,535 698,800 66,735
OFAZ2AN AT EH ALY 765,535,002 765,535
= 535,874
2 229,661
ZAZANAXNFIE BHY| 21,302 22,087 AT85
= 14,911
2 6,391
201 LByl 8,000 22,087 ~14,087
= 5,600
2 2,400
01 At22relt| 8,000 22,087 A 14,087
OFAS2ANAXSHAIY #HH 8,000,002 8,000
= 5,600
2 2,400
202 048] 13,302 0 13,302
= 9,311
2 3,991
01 =2Uloi8] 13,302 0 13,302
OFAZANANEHALEE 0f|
13,302,0002 13,302
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l=dH

D stAs NE

C sHAEX =M CEREE
_ _ _ PIEL=
SAN-ZH-SA(FA) - NFAY - BES e bﬂ/l\_w” Hlw &2
= 9,311
= 3,991
detdsd |54 8,391,558 9,436, 135 1,044,577
= 4,008,498
[ 1,229,074
= 3,153,986
2ozl s 3,300,000 4,500,000 21,200,000
= 2,000,000
< 800,000
= 500,000
402 RIZtX=01A 3,300,000 4,500,000 1,200,000
= 2,000,000
[ 800,000
= 500,000
01 QI R=2EX 3,300,000 4,500,000 21,200,000
oZgalEd A =4
3,300,000, 000& 3,300,000
= 2,000,000
< 800,000
= 500,000
=HISXHH X3 A 285,700 285,700 0
= 142,850
< 42,855
= 99,995
307 @Iztold 285,700 285,700 0
= 142,850
[ 42,855
= 99,995
02 RIZtBAE X 285,700 285,700 0
O=H &R 2 A 285,700 *1,000ha 285,700
= 142,850
< 42,855
= 99,995
SIlsdelTLAS 496,000 960,000 464,000
< 248,000
= 248,000
402 BI2tHE01 A 496,000 960,000 A464,000
< 248,000
= 248,000
01 224X E2EX 496,000 960,000 464,000
ORJisdel At 248,000,000 *20H 2~ 496,000
< 248,000
= 248,000
SIIEHIS XA A 1,897,200 1,365,000 532,200
= 1,214,208
< 115,729
= 567,263
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Ha: s5)AS X
ool HEYSY S (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
307 2I2+0IH 1,897,200 1,365,000 532,200
= 1,214,208
= 115,729
2 567,263
02 pIABNBE 1,897,200 1,365,000 532,200
OSIIZEI2NAAY  1,70021%1,116,000%F 1,897,200
=2 1,214,208
= 115,729
2 567,263
HNME DSBS Y 388,000 565,720 A177,720
201 Yereg| 3,000 15,000 £12,000
03 A2 3,000 0 3,000
OF = M E| T3 2N 2t 3,000,0002 * 18l 3,000
307 2120/ H 150,000 0 150,000
05 QI2t9IEtz 150,000 0 150,000
OFMMENDISI® S22l 150,000,0009 150,000
401 AEHI2L S0 230,000 539,000 309,000
01 Al&t| 225,147 539,000 £313,853
ey ECEENE 225,147,00024 225,147
02 22!l 3,197 0 3,197
OMER2USA A& 22t
230,000,0002! *1.39% 3,197
03 Al& S CHY| 1,656 0 1,656
OME RIS ALY
230,000,00024 %0, 72% 1,656
405 X+arE S| 5,000 11,720 A6,720
01 XYL SEF S| 5,000 11,720 A6,720
OXHMEY Y ASSSE 5,000,008 13| 5,000
MetHllz X 2,000 8,000 6,000
= 1,000
2 1,000
307 2120/ H 2,000 8,000 6,000
= 1,000
2 1,000
02 QIAAMRE 2,000 8,000 6,000
OXBASI S XA
1,000, 00021 %24 2 2,000
= 1,000
2 1,000
AePse X 660,858 250,600 410,258
201 Ygreg| 2,600 2,600 0
01 AtR2elt| 2,600 2,600 0
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SN S SME
Ha: s5)AS X
ool HEYSY S (e @8
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K oﬁ&iﬁ HwsZ
SEEEEEErTEEEEES
70,0008 %102 x23] 1,400
OXBBSY MWK 2t Yx2
600, 0002 *2CH 1,200
WEE] 326,610 129,600 197,010
WET] 326,610 129,600 197,010
OXS =LA 326,610
oREHSH (20|
250,0002 +1,400ha*0.9 315,000
oREF S (M) 300,0008! *43ha*0.9 11,610
301 YLrBAZ 2,200 4,400 A2,200
10 BAFAHIE A2 2,200 4,400 A2,200
ONSBASY NS U BA HA YLD 2,200
CNFES KU 10,0002 *100% 1,000
OBALE A OIHIE A 10,0002 * 502 500
0 DHAI b 7,00021*100% 700
402 212E X201 F 329,448 80,000 249,448
01 UAEBE 329,448 80,000 249,448
OB SAMS YL & 203,448
OSEH 960,000 *189hax0. 7 127,008
o 0l /F 1,040,000 *105hax0. 7 76,440
OXSBBEIHWAI 200,00004 20024 +0.5 20,000
OMESSIMNHHSLH(HE)
6,000, 0002 *30hax0.4 72,000
ORSFSHIUS +42
340,00021 %1002 34,000
HEAsY NYXE 170,000 345,840 A175,840
=2 170,000
307 2120l H 170,000 345,840 A175,840
= 170,000
02 DINAMEBE 170,000 345,840 A175,840
OXBASANFAE 170,000,000 * 13| 170,000
= 170,000
TPV 18,000 31,200 A 13,200
= 5,900
2 12,100
402 Q12X 0|H 8,000 31,200 £13,200
= 5,900
2 12,100
01 QIARERE 18,000 31,200 A 13,200
OXSBAIYE T XA 18,000
oSN A ZD 500,000 *36CH 18,000
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SA: SetlEHE
Ha: =4S N
el AERsY |4 (B9 &2
_ _ HE T
SN EB -GS - MBAY - BES arey e HRE2
< 5,900
2 12,100
EUMBRILS T AL 678,800 678,800 0
= 481,440
= 15,590
2 181,770
307 212+0| 678,800 678,800 0
=2 481,440
= 15,500
2 181,770
02 DIRIAAMBE 678,800 678,800 0
OEUMSH BEAL 339,400, 0002 *23| 678,800
= 481,440
= 15,590
2 181,770
MRE20M42)HH 212 495,000 0 495,000
401 AEHILR ] 495,000 0 495,000
01 Al&| 490,000 0 490,000
OEMDI M2 HIE & X 490,000
ODIMSHE AS 324,000, 0002 324,000
OYUDHIAAIAE X 115,000,0002 115,000
OMEAAL &% 51,000,000 51,000
02 22yl 4,000 0 4,000
OEMDI M2 M E 22l 4,000,000 4,000
03 Al&=0HH| 1,000 0 1,000
OEMDI 2 HIEf Al &S CHH] 1,000,000 1,000
S| s At 548,507 214,560 1,333,967
= 500,500
= 258,616
, 2 789,411
=1 KA 166, 152 165,960 192
= 58,416
2 107,736
402 QI TH2O0|H 166, 152 142,560 23,592
= 58,416
2 107,736
01 pI2R=EE 166, 152 142,560 23,592
O=s8x4I| 23 4,300,0002 *3CH *60% 7,740
= 3,870
2 3,870
OMAY B2 HEIXIH(2ED])
2,520, 0002 7 Ch *80% 14,112
& 7,056
2 7,086
OSIIHSL AISII 2 1,030,0002 10CH 10,300
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SN
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el

X ZH
(=]

sZJl=4H

sgIIAH = At

_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i HIRE
S 3,090
= 7,210
ogdg2ell 22 2,000,000& *210CH *30% 126,000
S 42,000
= 84,000
OssdIl 5= 200,000 ~40CH 8,000
= 2,400
= 5,600
UHSIA & =2lU=F 82,375 48,600 33,775
201 LEH2HH| 60,875 30,350 30,525
01 AtR22/Hl 44,900 23,700 21,200
OYMAE SHOolXlI2el 1,000,000& * 14| 1,000
OYHSBAIRA LI L A2 B
500,000& »1&! 500
OSIIANYUAY & =342 1% 2Y
150, 0003 «8H #2323 2,400
O UAE &Hl R4 200, 000& »200CH 40,000
OsJlAzsl=2l 2+ 24 50,000& *x20& 1,000
02 2323l 15,975 6,650 9,325
OglisJIAH 282 75,0003 21304 15,975
206 M=l 15,000 15,000 0
01 Mz bl 15,000 15,000 0
OsJlH2s 42| 25 7Y
10,000 *1,5008 15,000
301 LetEag 3,000 2,250 750
10 SAAHIEA S 3,000 2,250 750
OEH? SJIH nsE 24 150,000& 20 3,000
405 XtobE SHI 3,500 1,000 2,500
01 ML ESF=H 3,500 1,000 2,500
OAtCrel ¢ 350,000& 10X 3,500
2UH=sIH 29 1,300,000 0 1,300,000
= 500,500
= 200,200
= 599,300
401 Al&HI LSO 600,000 0 600,000
= 231,000
S 92,400
= 276,600
01 Al&H| 597,840 0 597,840
OYthsIIH 228D Ay
597,840,000& 14! 597,840
= 230, 168
= 92,068
i 275,604
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&2 s A AL (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e

03 AIZ R0l 2,160 0 2,160
OUUEIIH 225D 2
600,000, 000& 0. 36% 2,160
= 832
= 332
= 996
405 KH&HFESHI 700,000 0 700,000
= 269,500
L= 107,800
i 322,700
01 XYL SSFSHI 700,000 0 700,000
OLU=IIHF(67TH) 650,000,000& 650,000
= 250,250
L= 100, 100
= 299,650
oglied HHl+ 25,000,000& +2CH 50,000
= 19,250
& 7,700
= 23,050
USSR ozt 25 13,181,404 9,134,381 4,047,023
= 94,800
= 1,980,000
Il 2,025,000
& 2,389,467
i 6,692,137
ZHEH HaD|gt =4 3,373,316 2,031,701 1,341,615
= 94,800
= 1,000,000
= 677,467
= 1,601,049
WL =IE8E MUIA(ASAER) 141,631 132,048 9,583
101 el ] 42,031 25,748 16,283
04 JIZtHIZ2E2NHEE S 42,031 25,748 16,283
OMZ X Z2H 912 12,603
o=k 35,2003 1H #2652 8,871
omr=7Y 35,2008 1 «52== 1,831
oXt=mERI 35,2003 x1H »15¢ 528
o &El&Z3 35,2003 »1H+30&4*1.3 1,373
OtstAsAld2te|l £ 35,2003 «3H «2522 26,612
OBNML2a 2182 Y 35,2003 x8FE 10 2,816
201 et 46,500 42,800 3,700
02 2323l 46,500 42,800 3,700
Ozl 15,000
OVAYSAL 2Y 2UY SB 7Y
1,500& %10,000 £ 15,000
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SA: Sl
Hy: AYSH oLt &

il

Sl HHST MUY £ (cel @l
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
OAE &I =Xl 31,500
oASAEE 2H Y 12,000,000&*1& 12,000
o0 ZE0tRA HIE WA 2,500,000& 15 2,500
oI =sAE /A E=x 1,000,000 *53] 5,000
OB MMAAEE S 4,000,000& *32] 12,000
206 M=l 25,000 25,000 0
01 M= bl 25,000 25,000 0
OnsigsAE e 2L 15,000
o0&, &R 7Y 500,000& 108 5,000
o2I XM F 1,000,000 105 10,000
OMZ X MAAlE 2ETHE 1,000,000& 102 10,000
301 Let2a= 5,000 0 5,000
12 JIEtE2 o= 5,000 0 5,000
OMZ X datsIE &4 24 100,000& «50S 5,000
402 QI2HRHE01M 23,100 38,500 15,400
01 2ItXEE X 23,100 38,500 A 15,400
OMNZ A SR 2 & ol CH =Y
330,000& *100& *70% 23,100
FOIM ™ datdl X2 26,400 24,650 1,750
= 23,200
= 3,200
402 DIZHRHE0IA 26,400 24,650 1,750
= 23,200
= 3,200
01 It ELEXL 26,400 24,650 1,750
O=0M etH Mot K& 20,000,000& 20,000
= 20,000
Oo&#EU XA 6,400,000& 6,400
S 3,200
= 3,200
2o 33 263,500 266,500 A3,000
= 38,000
= 225,500
402 22t =01 263,500 266,500 3,000
= 38,000
= 225,500
01 2ItXEE X 263,500 266,500 /3,000
OZJ| st otRA &X 150,000, 000& 150,000
OZJl at*AAE SH3H(5ha)
152,000,000 %50% 76,000
< 38,000
= 38,000
O=8& g0l =& X & 17,500, 000& 17,500
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M aonf& olmot P&
Sl RIOISE MAIIE X4 (S5l &2
_ _ _ N E
SA BB H(BH) - MBAY - B2 Ofl & o Gl o B2
02U 42 @) 2 25 22
2,0002! %20, 0002 *50% 20,000
FEEN IS 349,200 45,600 303,600
= 150,950
2 198,250
402 RI2AX 201 349,200 45,600 303,600
= 150,950
2 198,250
01 PIZXEEE 349,200 45,600 303,600
QoS48 MAIIZ Al 10,000,0002 *80% 8,000
= 3,000
2 5,000
OX3t4: 018 F&Z Lrgyl B2 AlY
20,000, 0002 *80% 16,000
= 6,000
2 10,000
ONE0 2B SHHL Al
10,000, 0002 0% 8,000
= 3,000
2 5,000
ONEZ0 REMH Moy H2 Al
20,000, 0002 *80% 16,000
= 6,000
2 10,000
OYATHYY ROIZS BHEA Al
6,000, 0002 x4} £ *80% 19,200
= 7,200
2 12,000
OERE MBS NEEZ NY
10,000, 0002 *37H 4 B0% 24,000
= 9,000
2 15,000
OEZERIIHEMAIIBES 160,000,008 160,000
= 80,000
2 80,000
OlYal ROILH M SHAIY
50,000, 0002 B0% 40,000
= 15,000
2 25,000
OS012 LYAL 2B FEMA AlY
10,000, 0002 +B0% 8,000
= 3,000
2 5,000
ORSFNEE S42 MAI|E AY
12,500, 0002 *57H A *80% 50,000
= 18,750
2 31,250
NS0 HHXI0E 5835 189,600 354,500 164,900
= 94,800
= 26,544
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M s€lis4dH

By ANSH olZe &
Pl HUSE daig &4 (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
= 68,256
402 2IZ2tt=01d 189,600 354,500 A 164,900
= 94,800
= 26,544
= 68,256
01 2ItXEE X 189,600 354,500 A 164,900
OANEZu Xl 08 S23 AtY(4.6ha)
316,000,000 *60% 189,600
= 94,800
= 26,544
= 68,256
ZOSE Mt 206,000 217,893 211,893
201 LEet=gH| 34,000 32,471 1,529
01 AtR2teld] 31,300 29,771 1,529
Ooger23l 12,544
o JIZ AR EZHI 70,0003 « 15 #23| 2,100
oSHWIOBE]D EU 225,000 »3CH*32 2,025
oZctZE I B
439,000 * 1 x4 %153 2,634
oS A EYH F¥ 375,000 = 1CH+32] 1,125
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